Addai247

Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam

Rifles Examination 2024

[Exam Date 23/02/2024
Exam Time 11:30 AM - 12:30 PM
Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q.1

Ans

Soh&)| HesoTLFSET P, B, C, G mmIb H S CWITT e(f sulL Goengsnil &Ml 25607 enLISHnS
Crred) SiihaleTemssry.. H 66Ul C &(8 2 L60Tlg 6UsVLILISSHLD SIDFHEI6Tm . B gy eteur H
&(8 @)LULSELD PPESTMITEUS TS LT HEIETETTT. P QyeTeu] C &(8) 2 L6vTly (HETEnLDIITSITT
@\6vemev. ereuflsv, H & (8 2L 6oTlg 6UEVLILISEHLD SLOFHE) (HLILISUT WITF?
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X2 B

3 P

X4 C

Q.2

Ans

@ GMILEILL (MWL H Clomlufley, IDC stesTLIg 216 sTestald, |BH' sTsdTLIS| 320 6T6T6LLD
GOWILLUBSIME. @B& GHMUIL(H Clwmgluiley ‘GOF eretTLIg)| sTeusumm) GMIUNLLILI(HID?
X< 11180
X 2.1200
31260
X 41290

Q.3

Ans

8R4S3T2=31 MmIb 19R11S30T 8=187 eresflev, 6R3S8T5="?
X 1. 20
X218
« 3. 15
X4 21

Q.4

Ans

SletTeu(pLD eThS eT(WSH &I, Clsm(hE&suulL g mLfle allsorms@m(?) 2_sTer @L&HHlsv
ClILIM(mH&)LD?

HILLQX?

v 1. QG

X2 E

X3A

X4 C
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Q.5

Ans

SstTeu(mHLD euigeumrtiseflen GlTLIflsv Casmalls @mla @ (?) LTMMTE 6U(HLD 6UIg6USHemSHEH
CoTHel5[HlSs D
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P
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Q.6

Ans

IHIT60TE TEU G| 6UITTEHEMS PLPEITI TS| 6UTTE NS WLEBILD DM MILD @)T6ToTLITELS| GUTTE NS (Lp &6V
SUMTEH 0SS WLLEDID GCIHTLFLemLWG CUTeuGeu, gh5MeUg| eUMTEHensWL|L6iT 6l&mLILemLLL
afl(mLULSGHTeneu C&IHb!S(H &5 LD.

O{6ToT6TOTTEEFILILILPLD : LILPLD 3 6rOLSlemITL : LIT6UTLD =2 SHeusSmGLT : ?

X 1. TS

X 2. P& SH606m6LU

X 3. GmesflmigeT

¢ 4. ULPLD

Q7

Ans

@(hH GOIULLL gmITL(H Clombluiley 'POLISH’ steoTLIg| ‘FSGLMP' etenrss (&mIuILLILIL (hl6Tems).
eTenflel, 2UHSHE GHMIUIL(H Clompludliev ‘PRAISE eteTLg) sTeusumm) GMIWILLuBEmg) ?

X 1. CSGPAP

« 2. CSGAPP

X 3. CGSAPP

X 4. CSGAPO




Q.8

Ans

(M usenLuletr eeitm)| hlsmsuaseT HCLW blasm(haasuL (hemsmsnr. LsenLuilest ‘D’ sresTm (WSLULNM(S,
eTHIT (PSLILII6L 6TEdTETT 6U(MHLD?

apliogling

3 F
X4 C

Q.9

Ans

CETHESLILLL FLETUTLENLE FLO6T CI&FWIW 6The @ Tevot(h GHmIuS(h&emmesrg)
660TM|&6l&meoTm)| @)L ommHmULL Geuesor(hlLD?

5-2+4+9x3=0
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2 Xlﬂﬂ.‘lgljﬂﬁ

X3 - MM +
X 4.+ DMMILD -

Q.10

Ans

ClamhlasuulL eugeuselgmLiflsor elleorms@ml (?) 2 siem @LESH 60 ClUM(hHHSID 6UlgelSHnS
CoIHeS b 6.
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Q.1

Ans

SlesTeu(mLD sTetoTHeTl6L 678, ClsmhlesslulL C&TLflev 2 6Tem Caeralls@mlsni (?7) rmmiLn?
52,49, 45, 40, 34, 27,7
X118
X215
319
X417

Q.12

Ans

CamhlEsslULL QFTHEHemsT, QY mISlev H&T auflemFliuly FrenwseHeyL.
1. HEIGHT

2. HINGE

3. HORSE

4. HATE

5. HUSTLE

x1.4,321,5

x241,25,3

x3.4,5,3,2,1

v4 41,235

Q.13

Ans

(M LsenLWilest @ revor(h) Hlemsvsser £GL ClasmbleasLul(hsmemer. &6 1" 2 simem (P&ULINE
eTSHNT (PSLILII6L 6T6EBTET 6L (HLD?
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R

V35
X4 6

Q.14

Ans

Hlsireu(blo 6Ths 6T(WS SIS (& (Wensu @IS (HhSI susuons suflenswms 606us(EnEUNs),
218 Csmhlasliul(herer tsTLsnr Hlemmey ol&&lstTms)?
XY_YZXYYYZXYY_ZXYYYZ_YYY_

o 1. YyXz
X 2. yzyy
X 3. ZZYyY
X 4 yXyX




Q.15

Ans

Gl ST 62(H MLIWENETTE &FLI9SHSTLIY , @) suett eTest Hevoreuflett &erfletr FCaMHFlLenLIL Lo&H6bT”
ETESTMITT. 6T6fl6D, B eMLIWIETTIET SHHeMS, S 60115 M6 58, sTetT6rT 2 M6 ?

x 1. gGasT8HTT
X 2 1ID&60T

v 3. D& 61T 60T S etuTeU T

X 4. D& 60T D& 60T

Q.16

Ans

Netreu(mLd CaeTalls s, ClambhlsasLliulL rmmIssstled) b, Cl&TLTLenLIL 6T(LDE S5 &6emem
CoiHeIs[H\Sa6WD.
TGX:SFW:BOR:?

« 1. ANQ

X2 ZXY

X3 NMN

<4 SUY

Q.17

Ans

NetreumLd Casmalufsy, Clem(hasuulL GsmLfled) (mbal a9l(HULL eTenaTensmrs
CoTHES HI&sa D

104, 126, 148, 170, 192, ?

<1218

v 2 214

X3 210

X4 213

Q.18

Ans

gw Fmiblsst P, Q, R, S, T, U ommid V B GWIm ep(h sulL Goengosni &mn 245657
enWWSH MG TS TLSESD CHresh winhaisTerery (2465 suflemsuilsy @(mss
SjeudFlwdlevemsv). P ereiTLIeUT Q LoHMIWD R &L G (HEU(HS S 2L 60Tly (HSTemLUTl6D
@ mE&EHM. S steaTLISUT R Bi6060&| T EIWL G)(HEU(HEESLD 2 LetTly Si(HSTenLuilsy @susnsv. V
eTeoTLIGUT T mID U &y &l @) (hHeU(HE G0 2 LetTly 2(HETenwuiled @ masSImmy. V stedTUsuT
S&(& sUVLILISSLD @TetoTLTeUSTS @) (HSHIMTI. srevflsv, S&(& 2 LeuTlg @)L LILISESLD
LT TH &) (Ih LILISUTT WITT?

X1\

X2 P

3 Q

xXa U




Q.19

Ans

PLPETM) M &HEMSHSHET Gl M(h & & LILIL (HeermenT, Hem&H s CleTLIHS) [ wmmi I
eTesoTentILLILILL @\esot(h) (LpLp6Y&6TT Glasm(h&asLILL (hsmemsnt. GlLIMG)|eums MLl
2 _650TE0LDE (ETHL 60T HM & en & &6 MM LI(heusme g ©& meaTn)]soTmen|Ld M) & em s & & 6mnerT
2 660TE0LD 6T60TM)| &(HE), (LPleeYs6ilsw @& STssTHl sl NesrummUL(hib

(P96 (8665 SFLOMesT&H&HeLD.

2A&e0s I Flev TUNELEET, BTTHET Y (&LD.

2MEe0s II: Flov SMTHEIT, 1908 (ES6T 2 (SLD.

M&enss III: Flev 1978 (&HSH6IT, HLILIGVSHET B, (FLD.

pigey I: Flov TuN6LSEHEIT, HLILIGVSHET B, (FLD.

(wiga] II: Flev HLILIGLGHEIT, HITTHET 6V6V.

X 1. (pyeyseT I mmi 1T e &lw @rsvor(hGL NesrLimm)&lesTmenst
X2 e I LLHGW YVssTUMMIFIMG
X3 (e I LHGW WeTumHmMISIME)

Plg6y I 160605 (196 Il B 6THS @(1H (Plg6LD

v Qlesrummefsusmen




Q.20

Ans

AB sT65TID G&ITL L1960 62 (TF &6tuT6enuTITlY. 6M6UE S LILIHILEUTE 2 (HeumE CameTell ULgSeor
gflumest NbuSens, Glam(hssiulL aNmHUusEEsTalsemned(hhal CoHTHbsH&Ea] L.
A

Section : Part-B-General Knowledge and General awareness




Q1

Ans

remrs g Sler ClFsuallesrmigseT (Classification of Expenditure) GlgMLFLIMsoT L9l65Tew (THLD
M &enas6ifev 615 [eTemeu &FiflimeoTg)?

L su(mHeUMIL Gl&6vall6nTLD 6TeaTLIG| L& S & F&lesT LI(HLIGILIM(HET 2svsv5) HH&F
C&FTH 5|5 &EM6T 2 (HEUTEH G 6USHS Sally Geum| CrTEHSmISERSESETHEF GlawwLIL(HLD
GlFeVEUM(ELD.

IL. epsug et GlgsueisoTiomentg), LI(HLIGILIM(HET Sj60608) HIEE Cl&ans 5 &H&ensrT

2 (HEUMTE (GS6V, {606V IHIEILI GlLIMm|LIL|&HEm6TS (MM LILIST(S)LD.

x 1. Tl (Hid

X 2 I L (Hib

v 3 1L (D IT 2y &lwi @) ysvor(hlLd

x4 11D @svemev, II LD @lsvemen

Q.2

Ans

2018 @)6v, GClUMDWEITL LSS MSTE 6THS @ HSIW HLEST H6M6V(EHT FRISS HTLES 3STLLI]
all(mems CleuetTmmy?

X 1. GL6DT (GLOMT LULLBTWS
X 2. Dr. @j(mesorm Glmam b
v 3 gjen)|um CammensGr

X 4. G(HUT Clasdr

Q.3

Ans

Clwerflwl Currdlsir HenL &l gy Flwmery wmy?
X 1. FHSHITGLS ClsTiflwy

X2 NbgIETTT

v L(HADS TS

X4 o9GFmsT

Q.4

Ans

@hHIW sflemsmiml(h e5TmEI&emetTIWITSDT, GlewpsoLImed] 6UFLOM 6THS elem6ITITLemL
elsmemwim(hl&Smme?

X 1 sumedlumsy
v 2 &lfls6sl

X 3. QUL lessTL 68T
X 4. D&




Q.5

Ans

SLIGVIT 6T60TM SHITET 6UMSHSHILGen S eumdFILILSlev &y LFL6VLDTETTeUT WITT?
X 1. 2460l HL05| TCEDF 60T

< 2. Slerudlsvevrr & medt

¥ 3 @IBVEVIT THEHT

x4 CursSlwm Ngens

Q.6

Ans

SlTeumiS e LML&) 6T 6T LDMMILD 6UIg6U& NS MM MIlE 68 meme6oTm 60T, Sismeu
adlemm LILIMEITEn6Y 2{606V. 6T60TGEL, 66U 6TEOTMILD 24610858 LILI () &5 60T M 60T
¢ 1 UmULDLD

X 2. [HTLOLD

X 3. &H6VEnEUSSEIT

X 4 HEDITEF6D
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Ans

F5HSTHS60T GUITE), HTL(H W& S&eTsv &My F&5618 L& & 6T
efleuEMUSeNS FMTHS(HHSE0TH.

X120

V2 75

<390

X 4. 40

Q.8

Ans

@inslwmsailssr 50eug)| Hemsvenio bHlUSIWTE uSsaIlGUMDmeuF wry?
% 1. U.U suedlgs

X 2. &lyevor flgdlgoe

« 3. DY sl

X4 1960 Flusy

Q.9

Ans

JTesT 2 &6l ereaTLIg), LNTLl&s emeus Lo LNrEsaLomsst 65T @IWIMEN& LS LM MILD LM
FLUISVLOTTT &MV GG ener 2618 @ eaN&SEIME]. &sT Smevrigerfley GluemFsuorid]
@\rayseflsy, GCleusTensr L6ToTEY LIMemevsUesTLD L&D LNTLEl& & 6m618 (5 LD.

v sLE

X 2. |HSLOMest
X 3. LDEVLITIT

X 4 GRUQE




Q.10

Ans

LSleaTevl (LD Sa.mm)&61fl6v 618, l9edllLev Sesflbul Sreyls Lmg&riy weamsm, 2023 (Digital
Personal Data Protection Bill, 2023) ggi1 um il &iflwimenrg)?

L @Sl wmalim &6 260Tem6u6dT D606V B ool lenevesiey GaaMleaas L () gl L6y
LWITESLILHID el L6 Hesflpulf Sreneu Gl&FWeums &Hsusm @, @he WEETST GILIM([HHSILD.

I @& @h&Hlwmellsy &Fr&E 260608 CEeneUseneT LM E6SMN&ETSH6leusts, @mhElwmailm g
CleusfGWILLD 215 56m& W LlFWeITESS SN G @) CILIM(HHS)ILD.

X 1. 11 L (b
X 2. T L (Hb

v 3 Twmmb I ey&lw @ reser(hlb
X 4. 11D @svemev II b @svemsv
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Ans

2023-24 sugeyGlgevey HlLL MlEemnsullsv, @bHIL HTFTRISLD 6188 6060T
(W 6oTen)| flemLo g emet 6] m)| & 618 mevorLg)?

X 1. 6R6tTLIG

v 2 e

X 3 2ba)
X4 QM)
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Ans

2011 &S & Tems &euars bl&(HILIN6tTLILY, W HHE WEHEETOIS TN eusTIFFlenWws
GlasmesorL LOMHleVLD 6T8)?

¢ 1. @& meuwm

X 2. WSS NFCHFD
x 3 2 557UNTCHELD
X4 Semy

Q.13

Ans

&eugment Geomaun Gamienu 2023 -&asmest GUTLigemnil LSS HIT(H 678)?
X1 ArslLy
X2 sGumgwim

« 3. 1o@sudlwum

X 4. @hHHwm




Q.14

Ans

6TThE SyeuuTlg 60, @\hH&IWLmellsy ermuLlL &l Geusomss CILMRETTSTT eusTiFFLmasrs), Hally hHlemsuuilsy @\ (HH5S
sumenen L GILI(RLoeTalleh (Hemmes sulbleuHEHS5]?

X< 1.1994
+ 2. 1991
X 3.1992
X 41993

Q.15

Ans

L965T6L(THLD 6TTHE FLETTHENED, ST HTLEHSH S0 2 _6T6IT (5 (HLIT LETTSTEMTEL L LILI(h&Ima)?
X 1. gmeu (Chhau)

X 2. um@(mburm (Bagurumbal)

X 3. sol&lg (Fugdi)

v + GLmeY| (Heoflsm (Dollu kunitha)

Q.16

Ans

@6t &(HSHHI(HEUTEsTS, (PedTestmsT USSR (wiesflwest gyt Camallwg Gamflwsdlenl
Mulisfléen) oyrdflwevemwliisy @) mbal CUDULLLSTELD.

X 1. (L&eYem T
X 2. Qg liuemL 2 flemLn&eiT

¢ 3 BglILIEDLE SHLEDILDSHEIT

x 4.
SjglILIEBL SLENSET MMID pliLienL 2 flenlassT 2y,&lw @) reser(hlb

Q17

Ans

ListTesflTetorLITeLG| eombh&menot(h) HILLSSH D& TerT cusTies) ellSHls @levdsE (&L
v 1. 8%
X2 6%
X3 7%
X 4. 5%

Q.18

Ans

@b 2FElweventolillest NetTeu(hHLd 6ThS LNfley 2 && BHeTm&HemnS 6 (M HlemevILImeL 65aT
b&lwesrmLd (Court of record) stest (&ML [HIEIM&HI?

X FLLuSfley 127
X2 FLLulfley 123
X3 FLLUfley 125
v 4 FLLUfley 129

Q.19

Ans

@\retoTLmD &y miSGeum-uFblwl GuUTT eThs 26007 (h HeOLGILMME)?
X 1.1652
¥ 21852
< 31752
X 4 1552




Q20 2010 ST6tT6leusLE edlemsLTL (h&&6T @HEwmallsy ©)6v meMLCILMMS).
Ams X1 pibemu
X 2. F6U0TIQ&IT

v 2 Ugl $leved]
X 4 eu&QGeorim

Section : Part-C-Elementary Mathematics

QA1 aiefleormey eTetTLIEUTT6Y, LN 6T sTatTLIGUEMIT 651 6p(F @WHETEnE LIS Gl6oTm( L5
Geusmaea|w MM WGenesr allL 100 BIL&6T @snmeuns eT(hHS W0 SWTHl&Hs (pigu. ereoflsy,
2jelesTmeis LMHMILD NN6dT @) (HeuU(HLD, SHeollSH&H6sNCW Sbs @WHSHTHens SWTfles 618560 60T
HITL&6TT Y (5LD?

X 1. 15 MMIW 115 BTLSET

Ans

X 2. 15 wMM|D 105 HITLS&ET
X3 20 mmILD 120 BITL&ET
¢4 10 bmmIb 110 HIL&ET

Q2 X, Y wmhmb Z eTedTm eI eTetoTS T 60T FTTEIS] 54 21 &L, X QL6078 Y wHmID Zetr #raflenw el
10 &S0 ¥ Y6078, Y WMHMID Zett Fraflenw edlL 12 yfsLb. eresflev, X bmHmIb Z &8,
@enLCwwmest NG EH WIMTFLD eT6dTEDT?

Ans X1 26

2. 22
<318
X424

Q3 greom, g wHmb Crsest 2L ECWIT(HESE EenLGw Rs 17600 eretrm C1&mensWiTerTg)] (WenmEW
6:7:9 etettm 6l H5SHl6v NflSaELLBISIDSHI. 21H60 Comssoflssr Lk eretTsoT?
Ans ¢ 1 Rs.7200
A 2. Rs. 4000
< 3. Rs. 4800
A 4 Rs. 5600

Q4 paretTugy Q emeu 69 15 g5l (Hemme sesflen, Q Queusl Py elL sTeususTey F86551D
S HLM(ELD?
Ans X 1.15.46 sgelisd
v 2. 17.64 5568510
X 3. 18.44 565D
X 4. 16.64 5560510




Q.5

Ans

24, 28, 27, 23, D omm)1b E ot &rm&if] 29 eresflev, D wmmd E 6ot Symeif] etedrest?
X 1. 37
2 36
X 3. 35
X 4. 38

Q.6

Ans

(M (HOIUEILL GTrwmeTgl @(F GUILNILL CaussHley sLesUUbBSDE. @) SHHTTS S 6t
(@) (MHLOLMISTE0TS| 24, ML HI(E STevsHSI60 SLESUUHSIMS) eTesflev, @) resor(h
GousmIs(ETHE & enLGuIw s ell&)&H&HensH 8 &HevorLmlwieyL.

X1.4:5

X2 2:1

3 3:1

X4 3:4

Q7

Ans

R FTLFHITSHS 60T epenevadlLLAIS6T (WPemmGw 10 cm MM 30 cm 2y,&LD. eresfléb
FMUFSH|THSH60T LITLILIGTEY 6T60T60T?

¥ 1150 cm?
#2100 cm?
X3 75 cm?

X 4105 cm?

Q.8

Ans

of 0.5 + 0.3 @)ebT FLIL eredrenT?

[

K1 =

L

X 4
: w N
e lw O~ o o

X

Q.9

Ans

L9\6BTEU(THLD 6THE 6T630T BL6V 6U(HLILTEI?
< 1.6032
< 2. 5896
< 3. 5968
v 4 6044




Q.10

Ans

@ sllpusmstTWmeny Heorg ClummLsefler sallemevenw, Glesmerpsey allemevenw aflL 40%
S ErEs GHUISEDTY. euf 30% SHemEhHuly euPrIGEIMTT erefley, DeuTsl HepL FHeSsH0
6TELELETEY?

X1 2.5%
X2 1.5%
3 2%
X 4. 3%

Q.11

Ans

@M Cxrailev melfesr 21 Hels LHLGILeTTTEsMT GlLMM| 25 WHILCILETTTSST a9 SHILTEsH S0
215657660 CamevalllymmITT. Seuf 46 5568 HILICILIsTITSEN6T UMM (HHSTEL, 5
w&LGIUstTE6T ellHH WTFSHH 60 2565 FTallsv Camevallwmm @ muumy. ereflsv, 2155 Fedsor
FEULF FLIC)LIGTITSHET 6T6LEU6TEY?

1. 80

<2100

3120

X< 4 60

Q.12

Ans

L& @)\7esoT(h) 60LIE(GE6M6T sUMMRISI6ITTT. (WSH6VTsUens Rs. 24000 & (&L, @ TeutTLTeUsmS Rs.
20000 &(&LD uUMRISISTITTT. 26Uy @) TevoT(h) MU E &MWL DT, (P&HsvTeLsns 20 55695

OTLISHIsYILD LMHMILD @) TsvorLTeuens 30 #5688 MmepuLGHle D aNDmmy. eresflev, RL(HEIWLTHS
BUITLILD 2606V HELLL LD 6TeU6UETTEY?

A 1. gumuLld = Rs. 1200
X 2. BELLD = Rs. 1400
A 3. gumuLld = Rs. 1400
v 4 B6iBLLD= Rs. 1200

Q.13

Ans

@ 2560 Glgmemas Rs. 72000 &(5), 16 £5H65510 y600m(H UL Ly ESHHHI60 3 24,6507 (H) & (6THE (5,
gal (hleully (68T (H 55 @(HWenm Fal L LILI(HID (WenmUil6n) eTesTerToUNS @) (HS(SLW?

« 1. Rs. 40384.51

< 2. Rs. 38245.22

< 3. Rs.42248.64

< 4. Rs.36574.31

Q.14

Ans

nionplisliggl

2 72 T2 2 @it wéLiL ersirenr?
X149

X2 50

X3 57

o4 52




Q.15

Ans

LEHILTN(H&: 14-3x(5+2)+ 4
X 1.11.36
2. 8.75
<3 6.29
x4 572

Q.16

Ans

120 60ILLIT 2ysTeY6TTeIT 6@(Mh SHeveneulilsy (Wemm G Sevoreniy MM Lmedlesr eN&IHW0 5 : 7 3y (SL.
gesorenstly MM LImedlesr e9El556ms (WenmGW 1:1 &5 TMM 6T6LI6U6T6)| &6voT6ttt T C&T&HE
Geustor(hlLb?

v 1. 20 e0lLLiT
X215 60 1LL
X310 0L
X4 25601y

Q17

Ans

@R(H GUIUYLL ClgTengwmsrs) Hevfleuliguilsv 2.5 ey evor(hl&6rflsL Rs.1060 &y 56D MMILD 1
2466071960 Rs.1000 &y56| H&FSHSEME). sTentlen, 2 6toT(h sully a9HSLD eretTenT?

X 1. 5.45 §56i5LD
v 2 417 s56isLD
X 3. 5.28 556i5LD
X 4. 6.28 5565LD

Q.18

Ans

eflmUenstT 6316m6VE (§LD GCIETET(LP &6V allemsvsds G Loment e1&I&WD 7 : 11. sTentlev, @ILOLILY
F5605LD eTel6L6TeY?

v 1. 36.36 55615
X 2. 35.08 #5650
X 3. 3333 ggeigLd
X 4. 27.58 g56150

Q.19

Ans

GMIssLULL eflenevulilest 1/4 LIk eretTUg), edlMLsnest siflemesvudledr 2/3 Liu&SIM@& &LOLD. sTesflsv,
S6T(ETHLIg F&565LD eTedTe0T?

X 1. 65 #5650
x 2. 60 56051
x 3. 50 #5650
v 4 62.5 556isLD




Q20 gipemeuls GUITeL Ql&ETTEL [HTEHT(S) LOLMKIE, HMeT eumiihEHeuT. 6 Couensvenil (LPlg&s
FloLeneu ellL Gl&emrel 67.5 BITL&ST (Gemmeuns eT(hlaSmmy. @)(meu(mbd @) snesThg Gouemnsy
ClFwismsy, 2CBs Ceusmevenll 618 SHem60T BHTLSESTED GlFIIS| (P& (LPlyL|LD?

Ans X190 BT &6l

v 2 18 BTL&ET

X 3. 55 [BITL&6IT

X 4. 25 BITL&ST

Section : Part-D-English

Q1 Select the most appropriate synonym of the given word.

Lewis asked (tactlessly), as he did not know that the motive was.
Ans X 1. Ignorantly

« 2. Bluntly

X 3. Blissfully

X 4. Civilly

Q2 Select the incorrectly spelt word from the given sentence.

The experiences gained by the Americans in the Civil War helped to conferm this preconception.

Ans 1. conferm

X 2. experiences
X 3. gained

X 4. preconception

Q3 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I am looking forward to meet you at the conference tomorrow.
Ans X 1. Iam looking forward

# 2. No error

« 3. 10 meet you

X 4. at the conference tomorrow.

Q4 Improve the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatically

correct.

Even as a boy Alexander has fearless and strong.
Ans X 1. No improvement

X 2. is fearlessly

« 3. was fearless

2 4. were fearless




Q.5

Ans

Select the most appropriate antonym of the given word.

Abscond

X 1. Clear Out
o 2. Appear
# 3. Tarnish
X 4. Guilty

Q.6

Ans

Improve the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatically

correct.

I asleep in and missed the bus!
X 1. sleeps in and

X 2. sleep in or

X 3. No improvement

« 4. slept in and

Q7

Ans

Identify the segment that contains a grammatical error. If there is no error, select No error’.

Wopsle had gone farthest, / and had better stop in his reckless career / while there was yet time.
X 1. and had better stop in his reckless career

« 2. Wopsle had gone farthest,

# 3. No error

X 4. while there was yet time.

Q.8

Ans

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of
the Idiom/Phrase.

To come into the open
« 1. To become public or evident
X 2. To open new business

X 3. To leave the work

X 4. To accept the challenge

Q.9

Ans

Select the most appropriate word to fill in the blank.

useful gadgets should find a home in every kitchen.
+ 1. These
X 2. They
X 3. This
X 4. There




Q.10

Ans

Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

I can't stand a passenger in a car who gives unwanted advice to the driver, like my mother-in-law.
X 1. Tongue And Cheek

X 2. Make No Bones About
+ 3. Backseat driver

X 4. Up in arms

Q.11

Ans

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
Some kinds of health crises does have political consequences.

A 1. Some kinds of health

X 2. political consequences.

X 3. No error

« 4. crises does have

Q.12

Ans

The sentence has been divided into three parts, identify the segment which contains a spelling error in the sentence
given below. Choose no error if there is no error in the sentence.
The college relied on the/ patronege of its wealthy graduates/ to expand its funds.

X 1. The college relied on the

« 2. patronege of its wealthy graduates

# 3. no error

X 4. to expand its funds.

Q.13

Ans

Select the most appropriate antonym of the given word.

Passable
& 1. Lavish

«” 2. Inadequate
5 3. Particular
/< 4. Middling

Q.14

Ans

Choose the word that is opposite in meaning to the given word.

Craving

# 1. Palate

+ 2. Satisfaction
X 3. Alarm

X 4. Pining




Q15 Fill in the blank with the most appropriate option.

WhoamIand = amI? A nobody, not wanted by any one, nor of use to anybody:.
Ans X' 1. whom
« 2. what
X 3. when

X 4. why

Comprehension:
Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.
Natural disasters are (1) by natural processes and are not always affected by the human consequences. However,

the vulnerability of any region is always affected by non-engineered structures. Thus, there is a need to (2) the

proper mitigation strategies by adopting scientific and engineering solutions to reduce the associated risks.

A Seismic Microzonation study is important (3) it helps to generate inputs for constructing earthquake risk
resilient buildings/infrastructures/dwellings to reduce and mitigate the (4) of earthquake shaking and for
minimizing the damages to structures and loss of lives for (5) urban planning.

SubQuestion No : 16

Q16 Select the most appropriate option for blank (1)

Ans

X 1. intrigued
X 2. wearied

« 3. triggered
X 4. called

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Natural disasters are (1) by natural processes and are not always aifected by the human consequences. However,
the vulnerability of any region is always affected by non-engineered structures. Thus, there is a need to (2) the
proper mitigation strategies by adopting scientific and engineering solutions to reduce the associated risks.

A Seismic Microzonation study is important (3) it helps to generate inputs for constructing earthquake risk
resilient buildings/infrastructures/dwellings to reduce and mitigate the (4) of earthquake shaking and for
minimizing the damages to structures and loss of lives for (5) urban planning.

SubQuestion No : 17

Q17 Select the most appropriate option for blank (2)
Ans 1. devise
< 2. intel

X 3. fabricate
< 4. halt




Q.18

Ans

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Natural disasters are (1) by natural processes and are not always affected by the human consequences. However,
the vulnerability of any region is always affected by non-engineered structures. Thus, there is a need to (2) the

proper mitigation strategies by adopting scientific and engineering solutions to reduce the associated risks.

A Seismic Microzonation study is important (3) it helps to generate inputs for constructing earthquake risk
resilient buildings/infrastructures/dwellings to reduce and mitigate the (4) of earthquake shaking and for
minimizing the damages to structures and loss of lives for (5) urban planning.

SubQuestion No : 18
Select the most appropriate option for blank (3)
& 1or

o 2. as
& 3. that

& 4.s0

Q.19

Ans

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Natural disasters are (1) by natural processes and are not always affected by the human consequences. However,
the vulnerability of anv region is always affected by non-engineered structures. Thus, there is a need to (2) the

proper mitigation strategies by adopting scientific and engineering solutions to reduce the associated risks.

A Seismic Microzonation study is important (3) it helps to generate inputs for constructing earthquake risk
resilient buildings/infrastructures/dwellings to reduce and mitigate the (4) of earthquake shaking and for
minimizing the damages to structures and loss of lives for (5) urban planning.

SubQuestion No : 19

Select the most appropriate option for blank (4)
X 1. noise

X 2. face

X 3. clashes

« 4. Impacts




Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Natural disasters are (1) by natural processes and are not always affected by the human consequences. However,
the vulnerability of any region is always affected by non-engineered structures. Thus, there is a need to (2) the

proper mitigation strategies by adopting scientific and engineering solutions to reduce the associated risks.

A Seismic Microzonation study is important (3) it helps to generate inputs for constructing earthquake risk
resilient buildings/infrastructures/dwellings to reduce and mitigate the (4) of earthquake shaking and for
minimizing the damages to structures and loss of lives for (5) urban planning.

SubQuestion No : 20

Q20 gelect the most appropriate option for blank (5)

Ans X 1. safely
X 2. safest

« 3. safer

X 4. safety
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Q.4

Ans
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Q.5

Ans
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Q.6

Ans
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Q.7

Ans
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Q.8

Ans
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Q.9

Ans
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Q.10

Ans
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Q.11

Ans
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Ans
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Q.13

Ans
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Q.14

Ans
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Ans

Comprehension:
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SubQuestion No : 16
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Comprehension:
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SubQuestion No : 17

T e 2 & U a9 Suged [d6ed &1 9 S

Ans

v 1. oy
KZ-HﬂEf
X3.G‘ﬂa

X 4 JETERT




Comprehension:
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SubQuestion No : 18
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Comprehension:
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SubQuestion No : 19
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Comprehension:
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SubQuestion No : 20
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